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) - 17,702,0009 = T
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13 =
(A EA)F 34 A 7EA 7] A AR A W]
57,832,000
57,832,0009 X 13l =
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3,150,0009) x 11 = P
(AHA)eHrstaeedn] 0 3,000,0009 < 11l 500,000
(ARA)FASAF WA= AN ¢ 106,0008
" 1w - 106,000
(AEA)FAFA AL A ZE AR 1 (357,480 951 000
A X 13) - 106,0009 = '
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(BE)Fe g S (18,627,000 9 496000
X 1a) - 16,131,0009 = PR
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X 13) - 18,627,0009) = e
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" 1a - 13,442,000
(FE) w4 wyEwS o (15,523,000 9 081000
4 X 1) - 13,442,000 = e
(R T g WS (30,543,960 15021000
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(AEA) e B4 o (46,057,000
R0 15,513,000
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31]- L 7 A
3 73 714 = 5
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A% g 8| AAEANE N
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FEEAH ¢ (44,496,0009 X 131) 6,528,000
37,968,000 =
22 2] ) 2] B} A = A R 2] 91 £
(RS A FEA L] 1 2,048,000 X 2,048,000
13 =
(AEA)FASAEX D] @ (2,769,0009 < 721,000
13L) - 2,048,0009) =
2 3} A e AL x| 1] £ al) -
A7 5 A=A H) ¢ (3,245,00090 X 131) 476,000
2,769,0009) =
23 2 S 2 en 2oy L
(AHA)AER G A =g n] ¢ 2,900,0009 X 2.900.000
13 =
AAA)SFH Y= 0 S-R]QF : <
(AR RFAAEMLEAAF © 4,400,000¢ 4,400,000
x 11 =
AHA) AL FA A E A 5,905,000 5,905,000
9 X 13l =
QA7) A AL Aol & 4
() 71 A TAP Tl 7 ¢ 548,0009 X 548,000
13 =
(A A7) A 7EA 7] Al AL o] 6,042,000
6,042,000¢) < 1al =
A VS a2 =z trole o) A
( 1:11_)04’]"!“"]'0 TH U T v ] 69,302,000
69,302,0009 x 13l =
(BHA)E7143g=x9n) ¢ 1,200,0009 X 1,200,000
13 =
AP A)E8HE] A9 X AdB AR A H
(B A F e =9 A LA u) 2= 2] 1,440,000
1,440,00091 < 13 =
SR AL dH 27 1] 3,000,0009 X 13 3,000,000
(P E s 281G A A X H] 600,000 600,000
9 x 1m =
(A FA) 71 A WAL EF EA 0] : 250,0009) 250,000
X 1xl =
22l A ) Al 7F ZVA| A EFE S 2 2] 1
(3 | AREA 71 KHA LA 2 @ S A ] 1,250,000
1,250,0009 X 1al =
3.71Eko] 5] 300 0 500
LY7ol A4 300 0 300
171849 = 300 0 300
AL getn A S5 As-odn : A
| AEAaE 300 0 300/ (B BRI TEEALIL A A2 A ¢ 100,004 300,000
X 3=
9. 4759 202,613 215,716| -13,103
IR R Ry 200,693 215,196 -14,503
I R 200,693 215,196 14,503
1,34 57,042|  61,434|  -4,392
=rn 56,448) 60,840 4,392 wAQFA M : 3,6009 x1002= 360,000
F2H) : -2,4009 X 111 < 180 = 4,752,000
2.9-9 22N 594 594 0
2.2 AWy 6,142 6,142 0
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R B maza 2712 (1)
% w3 5| ansAgus | TEAE AR :
1.4 9% 6,142 6,142 0
3.7 4] 137,509 147,620| -10,111
1.7 30| 137,509 147,620, -10,111*F=] HHuS77g 0] @ -6,235,0009 X 13]= -6,235,000
FE AL TR 0 -5,196,000 X 13]= -5,196,000
FE AR RS HAAE (£ 60,0009 <1249 720,000
x 19
;iiﬁ%ﬂiﬂ@ﬂl(#@lm © 50,0009 X 12 600,000
2. YA D45 1,920 520 1,400
1.7 e 8 AR E 4 1,920 520 1,400
1.0 244 1,250 300 950
1.o1&r ¢ 1,250 300 950 | o] A9 950,000 X 13]= 950,000
2. 7168 AT ESY 670 220 450
171884 8554 670 220 450| 71EF A S5 ¢ 450,000 < 13]= 450,000
3.71ek 4,392 5,000 -608
LAGE Y7 4,392 5,000 -608
1.eAAYG o= 4,392 5,000 -608
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LaeAAd o F 4,392 5,000 -608| Al Aol F 1 -608,000 < 13]= -608,000
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1.71e} ZRAYR S 7,560 500 7,060
1. g A 1211 7,560 500 7,060
LA o)Al 2w 500 500 0
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2. 32 A A QI W 357 0 357
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1712_1_'1'“@%_?16111 357 0 357 (o%\_)tl-]o ]"meﬂ = Al ] 106,000
52,6309 x2¢=
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251,000 < 13]= ’
3. WA FALG A Q171 1) 5,905 0 5,905
A A A WA AL Aol e@ ol An
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1.3 dA4 2,700 2,700 0
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2. ANk FF714) 330 330 0
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3. e 594 594 0
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AR AAHSAEFYR] 1759 <117
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1. 059 6,142 6,142 0
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1.9HA S 400 400 0
l.eds3 300 300 0
2.4k EIn| 100 100 0
3.395A9d & 4,100 4,100 0
1. QB33 4,100 4,100 0
1.8 w4 ns A9 4,100 4,100 0
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2.9 F 7514 3,600 3,600 0
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jigi@wg%ﬂ%ﬂ%%ﬂﬁ -20,000¢ ~240.000
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AT EFEY -1,000,0009 X 13]= -1,000,000
ZFESHE] 1,000,0009 X 53]= 5,000,000
AP g@Mn] -1,120,0008) < 13]= -1,120,000
4 AT LD 11,740 0 11,740
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2. FFFEAMN 200 0 200 S5 EA8] 200,000 X 13]= 200,000
%-;7]74@;1%@@-‘?— 600 0 600 |4t B8 7] PHEE 100,000 X 69= 600,000
5. 34989 10,164 0 10,164
1.717H A1 A 170 H] 9,484 0 9,484|91741] 1,139,000 X 69= 6,834,000
8 dhale] o 2018-11-08
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BAF7HH] 500,000 <23]= 1,000,000
Axpad 250,0009) X 13]= 250,000
HA(HH)F  1,400,0009 < 13]= 1,400,000
2. FFHAN 200 0 200{ 5 EXH] 200,000 < 13]= 200,000
;71{““11%%13%% 480 0 480 (At 23 7] -shE 80,0009 < 6€= 480,000
3.3 w9 #qY 3,300 3,300 0
1.3 3919394 900 900 0
1.3t 9 93] 900 900 0
1. g -7 900 900 0
2.8 5 mEe 2,400 2,400 0
1.8t RS 2,400 2,400 0
1.8k 84| 2,400 2,400 0
7.8t A FSE 0 1,000/  -1,000
1.4H]H| 0 1,000 -1,000
1.¢]m]u] 0 1,000/ -1,000
1.4H]H| 0 1,000 -1,000
1.¢u)n) 0 1,000/ =1,000[el®]H]  -1,000,000¢ % 13]= -1,000,000
Al = A 775,365 403,643| 371,722
9 dhegel © 2018-11-08




